Homework 10, Due in class on Fri. 4/17 ECE 366, Spring 2015

1. Determine whether the following signals are periodic or not. If periodic, find the
period:
a) z[n] = exp(10.26n/x)
) z[n! = exp(127n/.25)
(¢) z[n] = sm(S 5rn/T)
(d) z[n] = exp(i27n/.25) + cos{mn)
2. 3.4-13 on page 330.

3. Determine whether the following discrete-time systems are linear, time-invariant,
memoryless, causal and stable.

(8_—) [I’L] x[n+3]
(b) yln} = sin (§(n+ 1)) zn]
(¢) y[n] = S7__ {(z[k+a])"', a is an integer.
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4. 3.7-1 on page 331.

5. 3.8-2 on page 331.
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